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ENGLISH

1. ANSWER THE FOLLOWING QUESTIONS GIVEN BELOW:

. Why Patol Babu wanted to know his dialogue?
. How did Patol Babu adjust to the dialogue given to him?

. What were the special effects that Patol Babu gave to his role to make it more
authentic?

. State the two ambitions of Granddad Lewis?
. Highlight the main theme of the poem, "Shed in Space’.

2. You are Vaishali Sharma / Vaibhav Sharma, the vice Head Girl/Vice Head Boy of
Oxford High School, Delhi. Your school is organising an inter class Drawing and Painting
Competition for classes V to VIII. Draft a notice, words inviting the students to
participate. Give all necessary details.

3. Identify the types of sentences given below:

A. What a tragedy!

B. My mother makes delicious cookies.

C. What is your name?

D. How well she sings!

E. Bring me that file.




4. Match the following PHRASES with their MEANINGS.

PHRASE MEANING
work out excited
to be on fire a day one has been waiting for
the great day pay off the cost by doing some work in lieu
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MATHEMATICS

Q 1. What should be added to -5/4 to get -1?

Q 2. Write (i)The rational number that does not have any reciprocal at all. (ii) The rational
numbers those are equal to their reciprocals.

Q 3. What is the multiplicative identity for rational numbers?

Q 4. What is the additive inverse of 3/5?

Q 5. Verify that — (-x) = x for (a) x =11/15 (b) x= - 13/17

Q 6. The product of two rational numbers is - 28/81. If one of them is - 2/3 then find the other.

Q 7. One-third of a group of people are men. If the number of women is 200 more than the
men, find the total number of people.

Q 8. Solve the equations: n/2 —3n/4 +5n/6 = 21

Q 9. If you subtract ¥ from a number and multiply the result by Y2, you get 1/8, what is the
number?

Q 10. The perimeter of a rectangular swimming pool is 154 m. Its length is 2 m, more than
twice its breadth. What are the length and breadth of the pool?

SCIENCE

Q1. Rakesh was preparing to produce crops and was making the list of agricultural practices:
he included the following in the list-

irrigation,

removal of weeds,

storage of grains,

preparation of soil,

sowing,

adding manure and fertilizers.

Which agricultural practice is missing from the above list?

Q2. Which method of irrigation is suitable for Rajasthan? Why do you think so?

Q3. Given below is an image. Study it and answer the following questions:




I. What is X and Y? ii. Identify the process. iii. Give one importance of it.

Q4. What do we call the process of converting dead vegetation into coal? Also write the types
of coal and the carbon content present in them.

Q5. What do we call the process of converting dead vegetation into coal? Also write the types
of coal and the carbon content present in them.

Q8. Radhey prefers to go to school by pooling car. On other occasions he like to opt for public
transport rather than private transport. For short distances, he walks or uses bicycle.

(@) What are the benefits of carpooling?

(b) Which mean of transport do you think is best for short distances?

(c) How on our end we can reduce the consumption of fossil fuels?

SOCIAL SCIENCE

Q1. Fillin the blanks.
1. Children under years of age are prohibited from any kind of labour.

a) 12 b) 14 c) 16 d) 18

2. The fundamental rights are provided to citizens by the

a) Constitution of India
b) Government of India
c) Police

d) Supreme Court




3. Sustainable Development is

a) A right Balance between use of resources and conservation of resources
b) Allow the resources to be renewed
c¢) Promote recycling of technological devices
d) Allow clearing of forests to construct apartments
4. What do you mean by Right to Equality.
a) Rich people are higher than poorer
b) All are equal before law.
c¢) Government officer are superior
d) None of these

5. Which court issue the writs

a) District Court

b) Supreme Court

c) High Court

d Bothband c

Q2. Answer the following questions:

1. Define the term "resource" and provide three examples of natural resources.

2. Explain the difference between renewable and non-renewable resources. Give one example
of each type.

3. Discuss the importance of conserving natural resources for future generations.

4. List three ways in which individuals can contribute to sustainable resource management in

their daily lives.

5. Define Secular State and Secularism
6. Imagine you are in charge of designing a campaign to raise awareness about the importance
of recycling. What strategies would you use, and why?

7. What are the values embedded in the Indian constitution?




Q.3. Identify the following resource as Renewable or Non-renewable

Q.4. Identify the following resource as Natural or Man-made

INFORMATION TECHNOLOGY (IT)

1. What is the purpose of a router in a computer network?
a) To connect multiple devices to the internet
b) To provide network security
c¢) To forward packets between networks

d) To connect multiple networks together




2. Which protocol is used for transferring files over the internet?

a) HTTP

b) FTP

c) TCP/IP

d) IP

. What is the difference between a hub and a switch?

a) A hub is faster, while a switch is slower

b) A hub connects multiple devices, while a switch connects only two devices

¢) A hub broadcasts data to all connected devices, while a switch sends data only to the

intended device

d) A hub is used for wireless networks, while a switch is used for wired networks
Fill in the Blanks
1. The process of dividing a larger network into smaller sub-networks is called

2. The device that connects multiple networks together is called a

3. The protocol that ensures reliable data transfer over the internet is called

Short Answer Questions

1. What is the difference between a LAN and a WAN?

2. What is the purpose of an IP address?

3. What is the difference between a client and a server in a computer network?

4. Draw a simple network diagram showing a router, switch, and three connected devices.
Label each component.




ARTIFICIAL INTELLEGENCE

Ch-01-Excite
1. Tick (¥) the correct option.

(a) In which of the following years, the world’s first full-scale intelligent humanoid robot
WABOT-1 was completed?

(i) 1967 (ii) 1972

(iii) 1980 (iv) 1956

(b) Which of the following robotic vacuum was developed in 2002?
(i) Roomba (ii) Electrolux Trilobite

(iii) Dyson DCO06 (iv) Neato XV-11

(c) Which of the following was the first chatbot developed?

(i) Kuki (ii) Parry

(iii) ELIZA (iv) Racter

(d) Which of the following game is based on the Computer Vision domain of Al?
(i) Mystery Animals (i1) Rock Paper Scissors

(iii) Emoji Scavenger Hunt (iv) All of these

2. Fill in the blank:

(@) The first social humanoid Robot Sophia made her first public appearance in the year

are Al programs that are designed to have a conversation with a human

model of Al is designed to adapt to the conditions it is put in and
draw conclusions based on the data.

1s a domain of Al which works with the interactions between humans
and computer systems using natural language.




